Draw Pictograms Fluency & Precision 2

Lesson 4 — Statistics — Draw Pictograms

NC Objective: Resources needed: Vocabulary:
Interpret and construct simple pictograms, Differentiated Sheets Pictogram, data, represent, horizontally,
tally charts, block diagrams and simple tables Teaching Slides vertically, symbol

Children use tally charts to produce pictograms. They build pictograms using concrete apparatus such as
counters or cubes then move to drawing their own pictures. They need to be able to complete missing column
or rows. They should use the same picture to represent all the data in the pictogram and line this up carefully.
It is important that children see pictograms both horizontally and vertically.

Key Questions:

How do you know how many images to draw?

What is the same and what is different about these two pictograms? (same data but shown horizontally and
vertically) Which pictogram is easier to read? Why?

What simple symbol could we draw to represent the data?

Why did you choose this?

* Working Towards * X Working Within Y % % Greater Depth

Children complete the information separately Children complete missing column or rows Children complete missing columns or rows
on the pictograms and use the same picture and use the same picture to represent all the and use the same picture to represent all the
to represent all the data in the pictogram data in the pictogram and line this up data in the pictogram and line this up

and line this up carefully. carefully. carefully.

On this sheet, they have to work out the
number needed for the tally chart, which is
represented complex words and number
sentences.

Reasoning & Problem Solving

...... = it Tt 2 mrer P7T T ]

The tally chart shows the favourte Rosie drew a tally chart showing The taly chart shows the favourite Rosi drew a taly chart showng s drew a ally chart shoving
i« the score of each child. cer urs in Class 2. each child the score of each chld
=

Flavour T o | Ty T

in you recreate the pi
Explaln your metnod.
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Draw Pictograms %

Fluency & Precision

Tue 26th Maths

Complete the pictograms using the data given.

Key @ -

Fruit Tally Fruit
Strawberry | M || Strawberry
Pear Wl Pear
Apple 1] Apple
Peach |11 K Peach
Key /\ =1
Flavour Tally Flavour
Chocolate J,HT | Chocolate
Strawberry | |Yf Strawberry
Vanilla | Vanilla
Mint | Mint
Name Taly (23 =%lgoal
Tia I
Zach I
Fose Il
eonne I Tia Zach | Rosie | Leanna
Key B =1
Vehicle Tally Vehicle
Car it Car
Bus Bus
Lorry Lorry
Van Van
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Draw Pictograms ﬁ//?

Answers

Fluency & Precision

Complete the pictograms using the data given.

Key @ -

Fruit Tally Fruit
Strawberry M | | Strawberry ““...
Pear Il Per . 1 Q0000000
Apple Il rre QOO0
Peach | I JHf P 1 QOO00000 00
Key /\ =1
Flavour Tally Flavour
Chocolate J«HT Il Chocolate AAAAAAAA
Strawberry | |Yf Strawberry AAAAA
Vanilla || Vanilla A A
Mint | Mint A
Key
Name Tally 8y =1 goal
Tia M o
Zach || ‘:o ':o
3 3
Rosie I o o o o
s lalal s
Leanna | | ia Zach Rosie Leanna
Key B -1
Vehicle Tally Vehicle
Car J/HT J,H’r Car ‘T rrrrrrin
Bus J,H’r Bus EEEEN
Lorry Lorry
Van |

Van .




Draw Pictograms *‘*

Fluency & Precision

Tue 26th Maths

Complete the pictograms using the data given.

Ky @ -

Fruit Tally Fruit
Strawberry | M || Strawberry “"
e | Il Pea
Apple | [l Apple
Peach | |Wf  |W Peach | @@
ey A\ =
Flavour Tally Flavour
Chocolate | |} ||| Chocolate A
Strawberry | |Yf Strawberry A
Vanilla I Vanila | A
Mint | Mint A
o Key
Name Tally % - gl
Tia I _
Zach I :.;
=i s |5 s
el Tia | Zach | Rosie | Leanna
Key =1
Vehicle Tally Vehicle
Car W Ca |
Bus | T s EEEN
Lorry Lorry
Van | Van B
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Draw Pictograms *‘* AnSWQI’S

Fluency & Precision

Complete the pictograms using the data given.

Ky @ -

Fruit Tally P
Strawberry J,H’r | | Strawberry . ‘ ‘ ‘ . ‘ ‘
Pear Wl | 900000000
Apple | Il e | QOO@
Peach J»HT J»HT Peach " ““““

key /\ =1

Flavour Tally Flavour

Chocolate | | ||| Chocolate AAAAAAM

Strawberry | |Yf Strawberry AAAAA
Vanilla | | Vanilla AA
Mint | Mint A

Name Tally Y ;. -1 goal 0-;
- T~
Tia J/HT t; .‘.
T~ ’.;‘
Zach || :Q -7
Rosi oy o, e .:.
osLe |||| ’.;‘ /.;, /.;‘ ,‘;'
Leanna e - - -
| | Tia Zach Rosie Leanna
Key M -1
Vehicle Tally Vehicle

Car J,HTJ,HT Car EEEEEREEERER

Bus | [ Bs HEEEN

Lorry

Van |




Draw Pictograms *‘**

Tue 26th Maths

Fluency & Precision

Complete the pictograms using the data given.

Fruit Tally Total Fruit
Strawberry fifty-two subtract Strawberry
48 ones
Pear Twenty subtract one Pear
and a half tens
one hundred ones
Apple subtract 99 ones Apple
Peach Half sixteen ones Peach . ‘
Key /\ =
Flavour Tally Total Flavour
Chocolate six tens subtract 50 Chocolate A
ones
Strawberry 4 tens — 3 tens Strawberry ﬁ
Vanilla half of 4 tens Vanilla ﬁ
subtract 17
Mint 10 x O ones Mint
Key
Name Tall Total .~
Y 8 g = goal
Tia half of 2 ones add -
five
Zach Zero add 9 ones
subtract four
Rosie five multiplied by ":0
one 3
o X oo
40 halved and = = =
Leanna halved again Tia Zach Rosie Leanna
Key =1
Vehicle Tally Total Hehide
8 tens subtract Car
Car seventy-three .
eighteen ones Bus
Bus subtract two x 5 . . . .
Lorry fifty ones minus 50 LOI’I’H
Van 1 ten add the

product 2 and zero Van .
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Draw Pictograms *‘**

Answers

Fluency & Precision

Complete the pictograms using the data given.

halved again

Key @ =1
Fruit Tally Total Fruit
Strawberry | | | | ﬁjty—z\gooiit;tmct Strawberry . ‘ ‘ ‘
P Twenty subtract one
ear J’HT and a half tens Pear
one hundred ones
Apple | subtract 99 ones Apple ‘
ot | e | oo | @ O OO OO @
Key A\ =_1_
Flavour Tally Total Flavour
Chocolate J,HT J/H,|’ six tens subtract 50 Chocolate ff ff ff ff AAMAA
ones
Strawberry H,H’ M 4 tens - 3 tens Strawberry AAMA AMAA
Vanila ]| half of 4 tens Vanila | A/A/\
subtract 17
Mint 10 x O ones Mint
Key =
Name Tally Total -~ ol
T e 8- L 5
ia alf of 2 ones a =<
J/HT | five :‘.:
9
e
Zach Zero add 9 ones oy
J/HT subtract four _:‘:_
% ey
Rosie five multiplied by .:' .‘—:
J/HT one o L;
oy )
40 halved and = ==
Leanna J/H/I’ dlved an Rosie | Leanna

Key B -1
Vehicle Tally Total Vehicle
Car | T || evengthres Cr HENEENEE
Bus | I Il suran o B HHEEEENE
Lorry fifty ones minus 50 Lorl’y
1 dd th
Van J/HT J/HT prodltli?;amti zeero Van . . . . . . . . . .
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Draw Pictograms * Reasoning & Problem Solving 2

The tally chart shows the favourite Rosie drew a tally chart showing
ice-cream flavours in Class 2. the score of each child.
Flavour N S
Chocolate WM = e THT TP
Strawberry | W U1 || Lsm T
Vanila —|JAT (111 JHT e
Mine Il Zoch }
Tia T

The pictogram is built using the given information.

Flavour " Using this data she drew a pictogram.

Chocolate 00000000 Key: A%
‘ A J

Strawberry | OO0 O
Vanilla 0000000
Mint 000

Which statement is incorrect? Why?

*There are 3 votes for mint instead of 8. sin_|'Leanna[ Zach |§ Tid

*There are 10 votes for strawberry instead of 12. C . 5
an you recreate the pictograms?
*There are 8 votes for chocolate instead of 17. Explain your method.
masterthecurriculum.co.uk
Draw Pictograms i? Reasoning & Problem Solving 2
The tally chart shows the favourite Rosie drew a tally chart showing
ice-cream flavours in Class 2. the score of each child.
Flavour
Name Score
Chocolate AW -
Esin il izl
Strawberry | W LU || i T T 1]
Vanilla A el
Mine [T 1] Zach 7
Tia T

The pictogram is built using the given information.
Using this data she drew a pictogram.

Flavour =1
Chocolate 00000000 %
Key:
Strawberry | ©OOO000O — A
Vanilla 0000000 -
Mint 000

Which statement is incorrect? Why?

*There are 3 votes for mint instead of 8. sin_|'Leanna[ Zach |4 Tid

*There are 10 votes for strawberry instead of 12. Can you recreate the pictogram?
*There are 8 votes for chocolate instead of 17. Explain your method.

. J O\

masterthecurriculum.co.uk




Draw Pictograms *

Answers

Reasoning & Problem Solving 2

The tally chart shows the favourite
ice-cream flavours in Class 2.

Chocolate WA
Strawberry | W AT |]
Vanilla WM T
Mint il
The pictogram is built using the given information.

Flavour =1

Chocolate 00000000

Strawberry | OOOOO

Vanilla 0000000

Mint 000

Which statement is incorrect? Why?
*There are 3 votes for mint instead of 8.

*There are 10 votes for strawberry instead of 12.

*There are 8 votes 11‘or chocolate instead of 17.
The second statement: There are 5 votes for strawberry instead of

4 A

Rosie drew a tally chart showing
the score of each child.

Name Score
Esin A
Ceanna | IWT JHT ||
Zach ]

Tia T

Using this data she drew a pictogram.

Esit

eanna| Zach |[§ Tid

Can you recreate the pictogram?

Explain your method.
The pictogram shows that Zach has 3 points according to the tally

12 ' _ chart, so the key is  /\ =1
\The third statement: There are 8 votes for chocolate instead of 17.) (Esin: 13, Leanna: 12; Tia: 8 )
masterthecurriculum.co.uk
Draw Pictograms i? Answers Reasoning & Problem Solving 2
4 N/ \

The tally chart shows the favourite
ice-cream flavours in Class 2.

Chocolate i amn
Strawberry | W 4T ||
Vanilla W T
Mint el

The pictogram is built using the given information.

Flavour =
Chocolate 00000000
Strawberry | OOOOO
Vanilla 0000000
Mint 000

Which statement is incorrect? Why?
*There are 3 votes for mint instead of 8.

*There are 10 votes for strawberry instead of 12.

*There are 8 votes for chocolate instead of 17.

The second statement: There are 5 votes for strawberry instead of
12

Rosie drew a tally chart showing
the score of each child.

Name Score
Esin JHT I
Ceanna | JHT LT ]
Zach |
Tia M

Using this data she drew a pictogram.

A
A
A

eanna| Zach [§ Ti

Esit

Can you recreate the pictogram?

Explain your method.
The pictogram shows that Zach has 3 points according to the tally
chart, so the key is A =1

The third statement: There are 8 votes for chocolate instead of 17.
\ A

( Esin: 13; Leanna: 12; Tia: 8
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Draw Pictograms ** Reasoning & Problem Solving 2

The tally chart shows the favourite Rosie drew a tally chart showing
ice-cream flavours in Class 2. the score of each child.
Flavour Tally Name BTG
o
Chocolate I | o Ll il
Leanna WM Mr
Strawberry [ W 4T I
' Zach [
Vanilla W11 T = D
Mint JHT
Using this data she drew a pictogram.
The pictogram is made using the given information. But now Zach has 10 x O ones points more.
Flavour = 1

Chocolate | 000000000000
Strawberry | ©O0O00 00O

Vanilla 00000000000000
Mint 00000000

Find the mistakes.

Can you recreate the pictogram?

Explai .
xplain your answer Explain your method.

masterthecurriculum.co.uk
Draw Pictograms ** Reasoning & Problem Solving 2
The tally chart shows the favourite Rosie drew a tally chart showing
ice-cream flavours in Class 2. the score of each child.
Flavour Tally Name S
=
Chocolate AT | s I |1 T
Leanna WM %
Strawberry |1 KT || Zach m
Vanilla W T Tia |
Mint M

Using this data she drew a pictogram.
The pictogram is made using the given information But now Zach has 10 x O ones points more.

.3
, A\ ]

Chocolate [ ©OO00000000000
Strawberry | ©O000 00O

Vanilla 00000000000000
Mint 00000000

Find the mistakes.

Can you recreate the pictogram?
Explain your method.

. J O\ J/

Explain your answer.
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Draw Pictograms **

Answers

Reasoning & Problem Solving

2

The tally chart shows the favourite ice-cream
flavours in Class 2.

Flavour Tally
Chocolate M| |
Strawberry |1 T[]
Vanilla T AT
Mint il

The pictogram is made using the given information

Flavour =1
Chocolate (@000 00000000
Strawberry | ©O000 00O
Vanilla 0000000000000
Mint 00000000

Find the mistakes.
Explain your answer.

There are two mistakes:

1) There are 12 votes for chocolate instead of 18.
2) There are 7 votes for strawberry instead of 12.

|\

J/

Rosie drew a tally chart showing

the score of each child.

Name Score
Esin WM T
Leanna WM T
Zach 1]

Tia | L [l

Using this data she drew a pictogram.

But now Zach has 10 x

sin

o 4

nes points more.

A
A
A

eanna

Zach |

Ti

Can you recreate the pictogram?
Explain Eour method.

The pictogram shows that Zac

chart, so the key is

A=1

has 3 points according to the tally

Zach’s points didn’t change because 10 x O is equal to O.

\Es'm: 13; Leanna: 11; Zach: 3; Tia: 8
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Draw Pictograms **

Answers

Reasoning & Problem Solving

2

The tally chart shows the favourite ice-cream
flavours in Class 2.

Flavour Tally
Chocolate MR |
Strawberry | LW T ]
Vanilla AT T
Mint M

The pictogram is made using the given information.

Flavour =1
Chocolate | 000000000000
Strawberry | ©OO00O 00O
Vanilla 0000000000000
Mint 00000000

Find the mistakes.
Explain your answer.

There are two mistakes:
1) There are 12 votes for chocolate instead of 18.
2) There are 7 votes for strawberry instead of 12.

J/

s

sin

Rosie drew a tally chart showing
the score of each child.

Name Score
Esin WM T
Leanna T M
Zach 1]

Tia |l

K_e‘q:A

Using this data she drew a pictogram.
But now Zach has 10 x

nes points more.

earna

Zach |

Ti

chart, so the key is

The pictogram shows that Za

Can you recreate the pictogram?

Explain %our method.
C

A =1

has 3 points according to the tally

Zach’s points didn’t change because 10 x O is equal to 0.
\Es'm; 13; Leanna: 11; Zach: 3; Tia: 8
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Draw Pictograms *** Reasoning & Problem Solving 2

4 N/ )

The stained tally chart shows the favourite Rosie drew a tally chart showing
ice-cream flavours in Class 2.

the score of each child.

Flavour Tally Name | Tally Total

33 ones subtract one Esin Fifty-eight subtract 45

and a half tens Leanna Half of 4 tens subtract 8
3 multiplied by four Zach Zero add 9 ones subtract six
56 halved and halved Tia 1 hundred ones subtract 92 ones

again Using this data she drew a pictogram but now
Mint 00 s W | Half of sixteen ones Zach has 10 x O ones extra points.

Key: /\

Chocolate

Strawberry o

Vanilla

The pictogram !made using the given information

A
A
A

Flavour =

Chocolate (@000 00000000
Strawberry | ©O000 00O

Vanilla 00000000000000 Esin [Leanna|Zach | Tia
Mint 00000000 Can you complete the tally chart and
Find the mistakes. recreate the pictogram?
\ Explain your answer. ) Explain your method.

masterthecurriculum.co.uk

Draw Pictograms *** Reasoning & Problem Solving 2

the score of each child.

4 N/ )
The stained tally chart shows the favourite Rosie drew a tally chart showing
ice-cream flavours in Class 2.

Flavour Tally Name | Tally Total
33 ones subtract one Esin Fl]cty-elght subtract 45
Chocolate . and a half tens Leanna Half of 4 tens subtract 8
Strawberry Z!l“ oUW | 3 multiplied by four Zach Zero add 9 ones subtract six
56 halved and halved Tia 1 hundred ones subtract 92 ones

Vanilla

again Using this data she drew a pictogram but now
Zach has 10 x O ones extra points.

Mint Py wal Half of sixteen ones

The pictogram !made using the given information

Flavour = 1

Chocolate | 000000000000
Strawberry | ©O000 0O

Vanilla 00000000000000 Esin |Leanna | Zach i |
Mint 00000000 Can you complete the tally chart and
Find the mistakes. recreate the pictogram?
Explain your answer. Explain your method.

. J O\ J/
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Draw Pictograms *** Answers Reasoning & Problem Solving 2

The stained tally chart shows the favourite

Rosie drew a tally chart showing
ice-cream flavours in Class 2.

the score of each child.

Flavour Tally Name Tally Total
Chocolate 33 ones subtract one Esin Fifty-eight subtract 45 13
. and a half tens Leanna Half of 4 tens subtract 8 12
Strawberry t'm i A 1B 3 multiplied by four 12| [zach Zero add 9 ones subtract six 3
Vanilla e 56 halved and halved Tia 1 hundred ones subtract 92 ones |3
A again 14 Using this data she drew a pictogram.
Mint [!;"[ 1 Half of sixteen ones 8

\)
The pictogram (s made using the given information

Flavour =

Chocolate (@000 00000000
Strawberry | ©O000 00O

Vanilla 00000000000000

Can you complete the tally chart and recreate the

Mint ...'.,.. , pictogram? Explain your method.
Find the mistakes.
. The pictogram shows that Zach has 3 points according to the tally
There are two mistakes: Explam your answer. chart, so the key is A = 1
1) There are 12 votes for chocolate instead of 18. Zach’s points didn’t change because 10 x O is equal to O.
L 2) There are 7 votes for strawberry instead of 12. J| Esin: 13;  Leanna: 12; Zach: 3; Tia: 8 )
masterthecurriculum.co.uk
Draw Pictograms *** Answers Reasoning & Problem Solving 2
The stained tally chart shows the favourite 1 Rosie drew a tally chart showing )
ice-cream flavours in Class 2. the score of each child.
Flavour Tally Name | Tally Total
33 ones subtract one i iftu-ei
Chocolate P lut 1S Esin Fifty-eight subtract 45 13
- and a half tens Leanna Half of 4 tens subtract 8 12
Strawberry l'lflm . [TW | 3 multiplied by four [ 4| |Zach Zero add 9 ones subtract six 3
. 56 halved and halved Tia 1 hundred ones subtract 92 ones S
Vanilla . 14
again Using this data she drew a pictogram.
Mint [!;"! 1 Half of sixteen ones &

| )
The pictogram (S made using the given information.

Flavour = 1

Chocolate | 000000000000
Strawberry [ ©OO00O 00O

Vanilla 0000000000000

Can you complete the tally chart and recreate the

Mint 00000000 pictogram? Explain your method.
Find the mistakes.
. The pictogram shows that Zach has 3 points according to the tally
There are two mistakes: Explam your answer. chart, so the key is A = 1
1) There are 18 votes for strawberry instead of 12. Zach’s points didn’t change because 10 x O is equal to 0.
\2) There are 12 votes for chocolate instead of 7. JEsin: 13; Leanna: 12; Zach: 3; Tia: 8 )
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